臺北巿立教育大學

100學年度研究所碩士班入學考試試題
班    別：資訊科學系碩士班
科    目：計算機概論
考試時間：90分鐘【13:30 − 15:00】
總    分：100分
· 注意：不必抄題，作答時請將試題題號及答案依照順序寫在答卷上；限用藍色或黑色筆作答，使用其他顏色或鉛筆作答者，所考科目以零分計算。(於本試題紙上作答者，不予計分。)
一、選擇題(每題2分，共12分)
1. What network configuration would best suit the following environments?
(A) A dormitory floor.

(B) A university campus.

(C) A state.

(D) A nation.
2. Which of the following statements does not alter a memory location?
(A) int a;

(B) number = 12;
(C) y = y + 2;

(D) width = Integer.parseInt(input);
3. Which of the following is true? 
(A) Pseudocode is used to describe an algorithm.

(B) Pseudocode is translatable by the programmer into a programming language (like Java).

(C) Pseudocode is used to describe executable statements that will eventually be translated by the programmer into a program.

(D) All of the above.

4. Which of the following will not produce a compiler error?

(A) Changing the value of a constant after it is declared.

(B) Changing the value at a given index of an array after it is created.

(C) Using a final variable before it is initialized.

(D) All of the above will produce compiler errors.
5. Inheritance is also known as the
(A) “knows-a” relationship.

(B) “has-a” relationship.

(C) “uses-a” relationship.

(D) “is-a” relationship.
6. Polymorphism enables you to :
(A) program in the general.

(B) program in the specific.

(C) absorb attributes and behavior from previous classes.

(D) hide information from the user.
二、填空題(每題2分，共8分)
(1) UML stands for       .

(2) What is the purpose of interrupts?       .
(3) The state of a process is defined in part by the current activity of that process. Each process may be in one of the following states: New, Running, Waiting, Ready, and        .

(4) What is the smallest value        of n such that an algorithm whose running time is 100n2 runs faster than an algorithm whose running time is 2n on the same machine.

三、解釋名詞(每題2分，共20分)
(一) SOCKET (computer network)
(二) Public-key encryption
(三) Packet Switching
(四) UDP

(五) Circuit Switching

(六) DNS (Domain name system)
(七) peer-to-peer architectures (P2P)
(八) Digit signature
(九) Process

(十) Round Robin
四、問答或程式題(共60分)
(一) Here are 10 integers: 17, 25, 6, 65, 35, 68, 14, 54, 16, 77. (15分)
1. sort them using Quicksort. Give the status of the list at the end of each phase.
2. Formulate the recurrence equation for Quicksort.
(二) Consider a c++ like program. What does main program print? （15分)
1. The function call uses “call by value.”
2. The function call uses “call by address.”
　1.  unknown(int x, int y)     

　　2.  {                  

　　3.    x+=y;                 

　　4.    y=x-y;                 

　　5.    x-=y;           

　　6.  }  


　　7.  void main()

　　8.  {

　　9.    int i=3 ; int j=5;

　　10.   unknown(3,j);

　　11.   cout<<"result ="<<3*i+j;

　　12.  }
(三) Using the concept of OOP, write a program that inputs two integers, arithmetic operator ( + , - , * , or / ) , and displays the result of the arithmetic operation. (20分)
(四) Show the steps of creating a heap using {45, 11, 50, 59, 60, 2, 4, 7, 10}. (10分)
不得使用計算機或任何儀具。
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